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RPD Quiz #3 First initial of last name:

" : 72,
LA Nm.; 5 15 Minutes (ﬂ {)U ? ﬂ

Instructions: Please print all written ANnSWErs.
only one word for each blank space.

If the row instructor cannot read your answer, they cannot be graded. There i

Grading:

All questions are worth 10 points
90-100=A

80-88=B

78-70=C

68 and below =F

18 An indirect retainer is defined as:

ay The component of a RPD that assists the direct retainer(s) in preventing displacement of
: the distal extension denture base away from the tissues
@ - The component of a RPD that assists the bracing arm in stabilization and prevents
horizontal displacement of the distal extension

@ A metal component of the RPD located anterior to the filerum line
aand c

@ bandc

2t Which of the following statements are CORRECT regarding movement of the RPD:
<&  Movement of the RPD does not depend on the location of the abutment teeth
(b) Occurs around fulerum and cross-sectional surfaces of the metal framework
(c) Occurs only if abutment teeth are inclined
‘@ Is resisted by indirect retainers
3

Select the CORRECT comparative differences between cobalt-chromium and nickel-chromium
alloys. (Select only one answer)

a Nickel-chromium is a high heat alloy and cobalt-chromium is low heat
(b) Cobalt-chromium is a course grain alloy and nickel-chromium is fine grain
C Nickel-chromium requires an oxyacetylene torch and cobalt-chromium requires induction
casting

(d)  Nickel-chromium requires phosphate-bonded investment and cobailt-éhromium requires
gypsum-bonded investment



bt R

The borders of the anterior portion of an anterior-posterior strap major connector

should follow the valleys of the rugae rather than being placed on the crest of the Y
ae in order to:

Avoid irritation to the tongue
Limit the entrapment of food under the m
c) Increase flexibility of the major connect cclusion
(a) and (b)
(&) (), (b), and (c)

52 List two counteractive mechanisms found in the RPD when a patient is chewing sticky foods.
(Partial gredit yill beygiven) TR
a. _indirec re‘!a:’.- e b e chee  arms

6. Mr. Jones has lost his lower denture. During his visit Dr. Toothacker, the next day, he was told
that all of his remaining teeth were caries-free and periodontally sound. However,
he was missing tooth numbers 28-32 and needed a new RPD. Based on this

clinical situation, what is the Kennedy classification?
Class I

((b)/ Classll TR s [f
(&) ClassIIl A b b/»f é A/
g Class IV e '

7 d on question #6, lhow many indirect retainers w uld be required for the metal framework?

a lor2 : : ; e

B g o Lidbe szt
c 4 orS
(d)  No indirect retainers are required

B0 y T
v 8. List five laboratory steps required when fabricating a RPD metal framework. (Partial credit will
be given) + e d 4 ,,L
Decig) ) TianAer 5’&? &w ; ﬂ’/lt{' : b ;,;5,« A T pvestmes
2. When fabricating a RPD framework, blockout procedures are performed to:
@7 Eliminate undercuts on the master cast that will be crossed by rigid components of the
RPD :

Facilitate place_meni of wax pattern for clasp arms
. Prevent withdrawal of the cast from duplicating material

a bandc
aand b
10.  Select the impression material used to fabricate the refractory cast for a RPD framework.

.. (@)~ ~Vinyl-polysilexane
,,@___m—lprmsible—hyémcolloid










: EX'I‘RA CREDIT 10 pmhis will be given IF BO'I"H questions are answered correctly. No
N “'a'rtlal credit given. The 10 points can ONLY increase NOT decrease your grade for this quiz
only. Do not use more than 3 sentences for each question.

at is the clinical s:gmﬁcance for border molding of a dxstal extensmn RPD?
N é:ﬁ @dg[geff/ 4 A Lorlor, fowcord /.?.r\("‘ /L/ (?lfzfjgf-d’clﬁ /A:’%ﬂf}’"
? ’f'g Pt o frﬂ:enr . ﬁ:ﬂ 724l ﬂf-/C'S//;:n A déﬁ?
g nSterar ) ‘ff» 757‘::;//;2:/# 4:.1)44, (ném s V) (7
Whén settfng teeth on the occlusal wax rim, the central foséa of a denture molar tooth
ppears to be buccal to the crest of the ridge as compared to the other teeth in the edentulous
,gr,ca What steps should be performed to correct the situation?

ﬂafa/ H/ ma/ax’ /'S 7£0'O’ fﬂ&xﬁf&/a’z:/ }%e
/K’)/hdf a..nau%/ ?.
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in p]ace in the following manner:
(a) Press on the edentulous area to stabilize the tray

(b No specific position is required when seating the impression
(©) Press on the metal rests of the framework

(d)  Allow the patient to hold the impression

......

" Dr. Toothacher has just completed a functional impression for his patient Mrs Jones He prom ,sed‘
his patient thdt she would have her Class T lower partial in 24 hours. Unfortunately, his laboratory s
‘no longer in' business. Dr. Toothacher has therefore decided to do the work hlmself Basedloﬁ"thls prt

,scenano,,aaqwer quest;ons 8-10:. B

P e !

Lt 8. . Llst two laboratory techmques that Dr Tooihacker can use to pour-up the funcho'
: impression.
@ ﬁfa;h_r&*r_&:&ma#m
®) Nyorh (Y noli N0 J Te=c hini ICE/&C
9. To section the edentulous area(s), what measurements should Dr. Toothack" use ,;, ¥ 0s
/(z)’ * 1 mm from the lingual slope of the residual ridge and 5 mm from ﬂlqdl ! mente:

;bf 2 mm from the hngua] slope of the residual ridge and 10 mm from the d_l :
/(r/)/ Sectioning of the cast is not required for a Kennedy Class I or Class III,‘ lin
situation _

(d) ) None of the above

10.

this problem. ,ud’]‘
(a) The framework was luted to the master cast

(b) Excess impression material was removed from the non-edentulous areas
(c) The cast was properly sealed with wax and verified with slurry water &

d aandc \\"f\_)O'T
@ None of the above

partial credit g:ven The 10 points can ONLY increase NOT decrease your grade for this' qulz
only. Do not use more than 3 sentences for each question. PLEASE PRINT

Y 5

n

11.  What is the clinical s1gn1ﬁcance for border moldmg of a distal extensionRPD? =+ . :
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. First Initial of last Name
0 MINUTES

| . e

A P‘
Ins t ctlons Please print al] written answers. No partial credit given. If the row instructor cannot read your answer,

cannot be graded There is only one word for each blank space.

’.h.L L:ﬂ. btk

"

: ' e rationale for providing a We_fit on a terminal abutment ¢
adjacentto a distal extension area Tather than using a disto-occlusal rest seat is to;

Place the rest seat closer to the adjacent tooth and enhance denture -

retention during vertical movement away from the residual ridge

Erﬂa,gﬁce horizontal movement of denture base with less soft tissue

impingement adjacent to distal abutment

w denture hase with less soft tissue

_impingement adjacent to distal abutment

(d  Allof the above are correct ' '

Mr. Jones has lost his lower denttre. During his visit with Dr. Toothacker, the next day, he was

told that all of his re:gljﬁith were caries-free and periodontally sound. However, be was
22-28

missing tooth numb d needed a new RPD. Based on this clinical situation, what is
the Kennedy classificafion’
(@) Class I
(b) Class Il
Class IIT
(d))Class IV
Based on question #2, how many direct retainers would be required for the metal framework?
(@1 ‘
(b) 2

(d) No direct retainers are required

7\ A remount procedure is defined as: f\/jlﬂ&j ana%r (,p__ag_z(—f;ﬂ__@@/af)Cm

4 L alhora tapbs - ff"é/_/) fl’ff"/' bhal been AE 774//11&(/
A Apra s ok

(
B



—

& st four objectxves of a functional impression.

6. Occlusal analysis is defined as: s vz nis /12 2 b5 o

R List two laboratory techniques that Dr. Toothacker can use to pour-up the flmcno A;}

a. mM/MA.Jm C,u.é’grﬁanﬂa,b 4&”/&!’%&/0‘”57%{.6;4 -
C. dﬂi—)’. jJ:’.n,-f{Z..-f' r-, }r’*/f.fﬂﬁ,{;f d /(/f,,,,»/ 2ot f /ﬂf’ //‘..f
—utn ] Lrmr e me, Oineoes

whe A yolrs ﬂ'rr/pua/F oL 01;5‘ A ar
' M&f ealaleea Tool . : b i
7k Whichone of the following statements is FALSE? sy
'Meltmg Bn;:mperatl.l)r:es of base metal RPD alloys are significantly 1(}(61’ than hos
of dental gold. ?
b) Chromium-containing RPD alloys are about 30% harder than Type l"V gold Pl
g) khe modulus of elasticity (stiffness) of cast base metal alloys is about twice that f@nf
of cast gold alloys.
d) Chromium-type casting alloys are lighter than their gold alloy counterparts.

e) Allergic responses to the constituents of base metal alloys, especially mckel are xi
observed occasionally. |

Dr. Toothacher has just completed a functional i 1mpressmn for his patient Mrs. Jone
his patient that she would have her Class I lower partial in 24 hours. Unfortunately, hi

no Ionger in business. Dr. Toothacher has therefore decided to do the work hunse :
scenario, answer questions 8-10:

impression.

@@ . Aﬂaap pl éﬁ( Zs ;Z’W&g( 5

(b) /f_}r!"l% (]axrfffﬂu f(hﬁ..!t;j’?{JM

;:,‘{'r

9! ~ To section the edentulous area(s), what measurements should Dr. Toothack:
(a) 1 mm from the lingual slope of the residual ridge and 5 mm from the di
(b) 2 mm from the lingual slope of the residual ridge and 10 mm from the di:

(©) Sectioning of the cast is not required for a Kennedy Class I or Class III clinica
situation

(d)) None of the above

10. After the impression has been poured, Dr. Toothacker notices a small arnoun't'.{(‘)"hf"-'stt'oné ﬁ'tilé.

occlusal surfaces of the teeth. Select the most appropriate response(s) that could' ave ed :
this problem. ' :

(@)  The framework was luted to the master cast X
(b)  Excess impression material was removed from the non-edentulous areas
()  The cast was properly sealed with wax and verified with slurry water

(d aand c
@ None of the above
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RPD Quiz #3

= T . 20 minutes
Student Name =T~
Row/Seat Nu -

Instructions: Please print all written answers. No partial credit given. If the instructor cannot
read your answer, they cannot be graded.

Grading:

All questions are worth 10 points
90-100=A

80-88=B

78-70=C

68 and below =F

1 ‘Name two investment materials used in casting base metal alloys for
_ removable partial dentures.
a). _CuctpWATE
b).  S\WCATE

2. Mr. Jones has lost his lower denture. During his clinical examination with Dr. Toothacker, the

/ following results were revealed: High lingual frenum attachment, amalgam_ssmmm;equired

for tooth numbers 27 and 28, with tooth #s 17-20 and 30-32 were missing Based on this clinical

tuation, what is the K Kennedy classification? -
* Class I o
Class II
(c) Class III
(d) Class IV
3. Based on question #2, how many direct ret:.x(;‘lers would be required for the metal framework?
(@1 1%

9 _ PR
oY

(d) No direct retainers are required

4. What type of major connector should be selected? Explain why.
A _LnNbUAL. BEATE i wi P»om OF (/a: b Rl by
A WAVE ERBUGH  boond T ini Dints R, 2 U s
Wil ALYS  ALien)  FOR PR pEAT 2 "-" 2 M e AN )
\FONGRE YT OTH AED LUST (,,;g, 2'5138 TACARD RTE D il s 9)




5. Aremount procedure isdefined as: _Usint A ~pNTRIC. AELATION RECORD
AN CFACEROW  AEASUBEMELTS T AccURAZELS T MAK, y
7 MANDT A TN CENTRIE r-mmow THIS il PROVrisE PACY
MELATIBROS e SETTING TEETH 0N Cadh - -
6. ‘What is the rationale for making a functional 1mpressmn‘7 (Be spemﬁc)
A FORLTIONAL  IMPRESDION o A <éromBaRY \Wareiceyon VoOED
D OBTAIA  ACCURATE  rofbreslone OF BCTH  pARY ¢ ST FASEUT
W_FONCTIONAL  FosiTIoNS T AUOWS' ™ THE BEMDE RS BE - MHAGE
L0 WA EASTRIBUTION oF resct 1S oBAmD AD 7H#E 1S /Um"
7. What measurements should be made when sectioning the cast for a functional <of7 T1%4%
impression? WA PN A F’UT
MEASURE  DystAl. ABUTMENT 1 rmm W Fx Ny (AR
B EAOM  MisT LinbvAL PART 8F RESIDUAL Riy'ONE T,

8. What is the difference between arbitrary blockout and relief of the master cast?
Arbitrary blockout AARIRALY BLecKovT 1S UseD 12  [BIcK ST
WPMDER EYT]R OF SpF7  775Sus oN A5 7

Relief of tﬁe mas.ter cast __ THIS (5 pyseElS  TO (REUEAT 7P/
MEIARL __FRovM _(MANGNE o0/ 50F7  rassut it
EoP. N Antrmoe Arcq ¥+ 1oE).

9. A clasp assembly is deﬁned as: B Braart 41/4 B ETENTIVE M&"
y _O_Cé/L-USA'-L” BAEZT ya 180° crace sbFERENCF J

10. st three advantages for using acrylic resin denture teeth.
Easy 1 ADIVST

b LY PoLymERIZE< TS REIN VSED TO SET TEETH
c._bLooD SHADE @ ABILITY




RPD Quiz #3

Student Nam¢ — s
Row/Seat Numoerst : -

Instructions: Please print all written answers. No partial credit given. If the row instructor cannot read your answer,
they cannot be graded. There is only one word for each blank space.

Grading:

All questions are worth 10 points
90-100 = A

80-38=B

78-70=C

68 and below = F

.....

I/ generating?
© (@  Degree of the angle of cervical convergence ~~
(b) How far into the angle of cervical convergence the clasp terminal is placed -~
(¢)  Flexibility of the clasp arm —
@  All of the above are correct

2. Mr. Jones has lost his lower denture. During his visit with Dr. Toothacker, the next day, he was
told that all of his remaining teeth were caries-free and periodontally sound. However, he was
missing tooth numbers 28-30 and needed a new RPD. Based on this clinical situation, what is
the Kennedy classification?

(a) Class1 2 2%-30 -
(b) Class I 3 Qess TL
@ Class III *
(d) Class IV t
3. Based on question #2, how many direct retainers would be required for the metal framework?
@1
(b) 2
®4

(d) No direct retainers are required

4. Support from the residual ridge is dependent upon several factors (List at least two):
Sweopock Covnag Stoen You. Yuge of Mssua ideally.

Wwould be. Sivewn ool AOMSSToro alale. A% Q{Mﬁ% 95‘
e Cona. Cornaen\ cova_ NARIOY Coxneriloug fis Pre. f(‘ed

5. According to McCracken thrg pbjective for making a functional impression is to;

] _m%ﬂ_ S-ovc.e_s of rho RPD pherudeen vHoal v-crngémnq
v ol AN AN NS - P\\sa*'o dxys«-v‘m&kq. FoTu, ONRY o Taimuy
6. Occlusal analysis is defined as:__ Y sde crnvd\®g  Mewal coadi eak'c

ng\g’v\ho\ Oc o o “k‘@:z)(;\\\\’z_\f\q (:xxmv BR®)
S\Wﬁ% aonA G.A\\.L \mw:s Idecal RED.




7. W.ien making a functional impression, the framework should be seated in the mouth and held
in place in the following manner:
(a) Press on the edentulous area to stabilize the tray
(b)  No specific position is required when seating the:i 1mpress1on
Press on the metal rests of the framework
(d)  Allow the patient to hold the impression

Dr. Toothacher has just completed a functional impression for his patient Mrs. Jones. He promised
his patlent that she would have her Class I lower partial in 24 hours. Unfortunately, his laboratory is
no longer in business. Dr. Toothacher has therefore decided to do the work himself. Based on this
scenario, answer questions 8-10:

8. List two laboratory techniques that Dr. Toothacker can use to pour-up the functional
impression.
(a) Beoding and Borite Slogrer and 9“""‘""‘9“
(b) Norra Cacowvria echnm Qs

9. To section the edentulous area(s), what measurements should Dr. Toothacker use?
(aYy 1 mm from the lingual slope of the residual ridge and 5 mm from the distal abutment
_) 2 mm from the lingual slope of the residual ridge and 10 mm from the distal abutment
(c) Sectioning of the cast is not required for a Kennedy Class I or Class III clinical
situation
(@ . None of the above

-

,/‘A

After the impression has been poured, Dr. Toothacker notices a small amount of stone on the
octlusal surfaces of the teeth. Select the most appropriate response(s) that could have caused
this problem.

(a) The framework was not correctly luted to the master cast
: (b) Excess impression material was removed from the non-edentulous areas

T () The cast was not properly sealed with wax and verified with slurry water
@ aandc
(e) None of the above

EXTRA CREDIT: 10 points will be given if question is answered correctly. No partial credit

given. The 10 points can ONLY increase NOT decrease your grade for this quiz only. Do not
use more than 3 sentences.

What is the clinical significance for border molding of a distal extension RPD?
Rards X moldung 1 <% MO CoRFANR tha Hssua

YL SC AR N a0\
Diskad LaxeNaoN oSsFra |\ o
+m_ Sncdhovnal &ofm oS Y. Regdunag)
Y. ,»}"\ ?‘L\. Qi%"’s °
o / il
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RPD Quiz #3
First Initial of last Name *
- g‘; - "0 MINUTES
Student Nar% ' o )
ROW/ Seat N ;? —

Instructions: Please print all written answers. No partial credit given. If the row instructor cannot read your answer,
they cannot be graded. There is only one word for each blank space.

Grading:

All questions are worth 10 points
90-100=A

80-38=8B

78-70=C

68 and below =F

e
-

v Which of the following factors determines the amount of retention that a clasp is capable of
generating? I
(a) Degree of the angle of cervical convergence T
(b)  How far into the angle of cervical convergence the clasp terminal is placed

(c Flexibility of the clasp arm
. , All of the above are correct
7 Mr. Jones has lost his lower denture. During his visit with Dr. Toothacker, the next day, he was
told that all of his remaining teeth were caries-free and periodontally sound. However, he was

missing tooth numbers 28-30 and needed a new RPD. Based on this clinical situation, what is
the Kennedy classification?

(@) ClassI 1 =
(b) ClassII ' ?
@Class m © 9
@ ClassIv *
s

, 3/ Based on question #2, how many direct retainers would be required for the metal framework?

g (@1

% (b) 2

) 4
‘ (d) No direct retainers are required

4, Support from the residual ndge is de endent upon several factors (List at leasf{t
\ ’-i’// / "’\N"{' ot pMen- 0‘ 0 “az 1L 38J & Am}‘o}u;?,a(ca [f.
i 73 ,(.' : e ’ v i
/ 1 \v L Joﬂgf % )
s €s IJV- / I’ o4 'S
Accordmg to McCracken, the objective for making a functional i impression is to: — (;ﬁ{ar C
(QCCO’IJ!B /l-( 'l‘ se f /MJ {\—\alk) (‘)\/f \\ ‘{?/ﬁcf o,

6. Occlusalanalyswls defined as: - /11“ e o M( OCa’J‘ >N Ql;rc ény
Lo : l(' $ ’c’/‘C ék;,‘ ~, "a ,v‘\ﬂljt (‘,,J/(. |/o./ Can Cla')l' AN /lff /

OCG{VS"’A bf‘é‘ﬂ (‘K’/\) loé‘ & ’ b-/" ‘J # J’ ;0
r' ~




7/ When making a functional impression, the framework should be seated in the mouth and helc‘J
in place in the following manner:
(a) Press on the edentulous area to stabilize the tray <

No specific position is required when seating the i 1mpress10n ,
Press on the metal rests of the framework -~ . " '
d)

B
=~

Allow the patient to hold the impression -~ s

Dr. Toothacher has just completed a functional impression for his patient Mrs. Jones. He promised
his patient that she would have her Class I lower partial in 24 hours. Unfortunately, his laboratory is

no longer in business. Dr. Toothacher has therefore decided to do the work himself. Based on this
scenario, answer questions 8-10:

, 8 List two laboratory techniques that Dr. Toothacker can use to pour-up the functional
impression.

(a) |%j Nng < B}KI"‘\ w/ Lja;/
, (b) - 0,,’2\ (blb‘l"\l;\ T :J"\.'gg'
,9;"" To section the edentulous area(s), what measurements should Dr. Toothacker use?

(a) 1 mm from the lingual slope of the residual ridge and 5 mm from the distal abutment

(b) 2 mm from the lingual slope of the residual ridge and 10 mm from the distal abutment

(c) Sectioning of the cast is not required for a Kennedy Class I or Class III clinical
situation

@ None of the above J

1'0./ After the impression has been poured, Dr. Toothacker notices a small amount of stone on the
occlusal surfaces of the teeth. Select the most appropriate response(s) that could have caused
this problem.

(a)Y The framework was not correctly luted to the master cast T
(b)) Excess impression material was removed from the non-edentulous areas<
c)> The cast was not properly sealed with wax and verified with slurry water

@) aandc

€ None of the above

EXTRA CREDIT: 10 points will be given if question is answered correctly. No partial credit

iven. The 10 points can ONLY increase NOT decrease your grade for this quiz only. Do not
use more than 3 sentences. o "

What is the, chmcal;?jm.ﬁ.gaﬂge for border molding of a distal ion RPD?
o pPlrov, é\ #l"’l’)/ X4 f&t— f¢£1/\ﬁ 7Lo /Z ’L‘C./*

{raﬂ-( :ﬁ.ﬂf’C <o #;/L’ 15 s‘uf’f’.c—eal"“fo;;wfor fZ_(, 0./’ ot[
}’Lc. /0,5(;\ - 9> ,/‘ Jdej /)o?L éfcqf(-o




——l

]

. Ay
First initial of last name: -
RPD Quiz #3 i
30 MINUTES &” Y
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-

Instructions: Please print all written answers. No partial credit given. If the instructor cannot
read your answer, the answer cannot be graded.

Grading:

All questions are worth 10 points, unless indicated differently

90-100=A

80-88=B

78-710=C

68 and below =F

1. Provide definitions and rationales for the following terms: (Be descriptive in your wording)
(60 points)

a. Occlusal analysis Cupfusling aechisn-~ Uiee 4~ Pecke wing any wprh Ao

Peotlidom ¢o o dedicnnine a ot aetucrde Jrenjatond plan fof }lcf‘/l'wf

b. Clinical remount— /) ¢ore. lipy wchsot ccceed oo yabn of bor ple prostbesis Lag
b Pieme d /f.:’.‘,. e )a’l ¢ .?/a(/;/ P Mo ge Jited e Jee v/p.p ,,,',[ JZ{
(,)r-”{r"}{‘"a' a c’tJ(rv’u;n¢ o tan? of l&p}i PSS o’uri—; ZPD
Perctitiag Lime

c. Altered cast impression— ... Jdsry imprisiion Foko Jo accuralils crened
180 at r-'J,fs 26 tn Surg o Corecd Ld o f e dicds) tp tndira o on FFPB

VWM grph 7

d. Centric jaw relation vs. Centric occlusion-- , , A
Contrit celation o5 pli tilation of Mot mad bl 1o o mar M oL

4‘%@’:';:}( AN u‘ mptd ﬂx#n"or on @ Suptvioe ra}}/f)n \.,a‘l( ‘o }/( 3)0»[:'4' Af-f&
Cerdeie Ndu&b-. re }A{ 4 ladon of K/r m,y.\”&r) Mt).ohM(),';u/dv dan J/ A0~
ihin Mt Jow £ Condee etlodiom.

e. Border molding-— Trocess by bk e fngdisnnt 1ne 00359 3orders are VA ot A by

rvonsl arrvovir] of (ofd figsacs do ideraniar Jlo Ia,ﬂ'- eduidil of
Ko perspdeses

f. Land area--- 4 222 Cn b fopm lol vt i Woed Lo didseaniac ,lAe :g«cr‘/ ttbn
& [ (v} f’t-" ffl/’ g4
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2. Mr. Jones has been wearing a mandibular RPD for over six years and is now ready for a new
denture. The old denture was fine except he did not like the metal showing on his lower teeth.
Dr. Toothacker, his family dentist, has classified the mandibular arch as a Kennedy Class IV
(missing tooth #s 23-26) with .01 inch undercuts on the mesio-buccal and distal-buccal of all

remaining teeth, L .
a. Starting with the surveying process, provide the design, technique and rationale that Dr.
L Toothacker can use to improve the esthetics for the new partial denture. (30 points)
8)&' l A X G plot o8 iatl podociuts ave Prtend ga ple 7
6 : % of X owd 4P T- bars Lo be placed o vtieate
o t% He eeitilics of e TPD ond wmadt A Jots LW;;/.
/ &// {7 Z Lo art o g’ﬂ/@ btoe L/ln.f/ whiek a/froauL
O e vady ol fopmm & 8/ ngiual Qitrt fipa, T‘Z..‘g e Criases e
% / Onrsiand oF antdal it opfitert e +a 15/1(,{/( Er~t wbile pnw’zlfnp Scadlie /et
' (Lherdip~ 0f He TPD. Tn s tate L wowld whe o linsaat ,p/ah eSe amyor
/ Lomrre dor whith il eovide d0od st and ollrm Kr b addibio o/
ond i iiecmo! Vanduct 200l 2boutd Ae Songe Frge amabt JieH. Al ClotpS ot Foer/
i ambeotuct 15hs0m Ferpl BE 18, 30 oo 48,30 wi bl 11 hen dint arans v M Puteal ond regi,
arans 0o ply Jgsupl. This otfenily olont doe goel erbenditn, Srmasiry and sdyutl
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Explain your specific clasp assembly design and rationale for the Kennedy
Class IV design used for the abovementioned framework. (10 points)
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c. Explain the difference between the Krol vs. Kratochvil design. (10 points)
EXTRA CREDIT
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“« .RDIV—Complete Denture Section
' Quiz#3
30 minutes
Please answer the following questions to the best of your ability. All essay :
questions must be LEGIBLE. If they cannot be read, they will not be graded :
Please print.
s Retentmn,, stability, and support are critical factors that must be asses _ ~and
1ncorporated during denture fabrication, Of these three factors. clrcle t 2+
factor(s) that are provided or enhanced by the anatomical structure. i
(Total 30 points....5 points for each response)
~ Anatomical Structure Critical Factors _ =
Example: , Buccal shelf : Retention Stability Support
Answer: Suppon, because the buccal shelf provides the primary support area in the mandibulan.
arch :
Anatomical Structure
Canine eminence
Hard palate
R Hamular notch

Retention

Retromolar pad Retention Stability
Retromylohyoid space @ ( Stability >

Rugae Reiennon o @

2 In denture fabrication, anatomically compare the differences and smnlantles ‘.

( between the zygomausg -alveolar crest and the buccal shelf. (10 pomts)
f}

\[1‘\.( ‘@{i(ﬁa_&’ -—;r -‘t§ VS Pa(aj S
4 OJLL(S. o__}/ pr( (\_p s h’f\_} raen A el \::n,u( LG CLJIQ.,P'\ I+
f)rau.&i.u LWpPart @Y hen ave ,The 2y gomatco -alveolar
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In complete denture fabrication, why is “balance” necessaryf pif 1A 0 %Pm &
(5 points) fex P‘f 4 ‘?
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‘ '-'ﬁcance of the ostenor alatal seal? (s : ; Rl :
- H’ \r\a_,Q e o e o | W “}\* can Pef pne (¥ seal olnat
Y o 09 o m’} Leatvae Cov P("Umfi’f oty OV\*
¢f~.;_'('\ \f'\er clo o [ PEaYe NG%JTNLO
; Cﬁ's Smith just had a new set.of d:;nLilreE;qma e by Dr. Toothacher enshe '\ cr
... returned for her first post-operative visit, he noticed a sore spot in the distobuccal

- ﬂange area of the mandibular denture. What would you suspect to be the cause of
':-_ﬁs problem? BE SPECIFIC (10 pts.)

e m KQ-»L—(C('C:L\ 'Q aﬂ%—( \NW\C”\{ O\."\«QC& C(Jd b'e

vextended  fo e N SAL A0SR g ,The \f!"wra.i'
Vo 2 00 U e (e ,Mfca&@ e,

. Whyisa! etruded tongue position” considered very unfavorable in complete
1wy gu P Iy P

&omgre CLSY' rqu “(”kq L en LA_Q IS

: (-03‘%‘!!'\100{\0\&\ nat ‘rﬁ_q per |Qi- 1‘[r s f\O7(
o R 1o cmcu.sa w o Char ner‘-“ Tap Pds:‘[‘)a«
- When setting anatomic teeth in ba]anccd*occlusmn, 1f the 1nc1sa]| guidance T

' mcreased what should you do to maintain balance? At léast FOUR so]utmns6 m N\M’\ol blf
must be provided to obtain full credit. (10 points) a YU rot-c 07
Lox !a( Jancu":; atacter vhet cannot b@(’i'\afl%r
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8. Comparc cg}f’tlrast mmopla%y thennose oly;mers Give amexamia éo?{ atﬁ 4 { et
each. (10 points)

ALt L AL
balance

9. Of the five factors in the Hanau s Quint, which factor(s) are under the greatest
control of the dentist? (5 points) No partial credit

0o penSaing Caa e
4 b : w% ;‘g\f :{;J"\J’j e A

\T\Cl$d«( M*C“v'ﬁf

10. Describe at least FIVE problems created when the vertical dimension of occlusmn
s closed excessively in relation to the vertical dimension of rest. (10 points) °
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Nam-‘ . ) Lab Seat | i
RDIV—Complete Denture Section

Quiz #3 O
30 minutes

Please answer the following questions to the best of your ability. All essay -
questions must be LEGIBLE. If they cannot be read, they will not be graded. " L)

Please print. O
1. What is the purpose of a clinical remount and secondary centric jaw relation

record in complete denture Tabrication? Hint: This-does fiot fefer to Iaboratory
remount. (20 pqgints . :
cl,\/t\l-lcll?fcfuvg?' —) 7: coffecf' Eérrory ,‘,\ A H AT G /clf-l“w\ fecor

X"XQ or errgn ;-lcf\ or f-le f‘(e_ a)anf’.lfc oFF t /1—‘4)/{"' Cas]L'

I{ Sceon c)ar (eatric J‘-w /c/c.f'.'zf\ /((ofJ i /let:c}e¢/ ILB o U'JC"/ ’{° /et l—
l'[w.. Adan .‘L/I..r cost 6!1/ lé melle e ih acc f'“ﬁe".
- /4¢a:drc. fvice cofF oxe’’

2. Mrs. Smith, a seamstress for over 30 years, has just received her first set of
complete dentures. She loves the way they look and feel in her mouth. However,
she has noticed that her ability to pronounce words has changed and when she
sews, she can no longer tear the thread with her front teeth like she used to for so

many years. What was the probable cause of this situation and how can it be
corrected? (Be specific and use the correct terminology) (20 points)
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3. Explair{\l'@lassification for complete dentures. (15 points)
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e difference between thermoplastlc ATTERTIO S 5 DT TR
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5. What are the three stages of polymenzatlon? (5 poin

R 6. When finishing and polishing a maxillary complete denture, the thickness of the
palatal portion should be 3 man (5 points)

5

Describe the procedure for the repair of a maxillary complete denture. (Be
specific and use the correct terminology) (20 points) PN, b )/ // X 9
géb#l« euae S/Ju o€ HL ‘(f% fJ'c— 3- l{/‘*‘\— W, “)
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«,\v EX

EXTRA CREDIT: To be used to increase the lowest Complete Denture Quiz score.
'Z/\ (20 points)

Describe the space of Donder’s and its relationship with complete denture fabrication?

What formula is used to obtain balanced occlusion for complete dentures? Why is
balanced occlusion clinically significant?
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